oy | Gee | Gd

6716 + 46 = 8234 - 46 = 10856 + 46 =

126000 — 2000 = 873000 -51000 = 8982000 — 7700000 =

Write 0.5 as a percentage = Write 0.2 as a percentage = Write 0.04 as a percentage =
7 3 _ 5 1_ 2 L

10 10 12 6 4 9

/xX2x3= 8x4x5= 12x10x6 =

Find 20% of 600 = Find 35% of 600 = Find 33% of 600 =
0.34+13.7 = 17.37 + 26.044 = 76.85 +124.075 =

17 x 2654 = 17 x3753 = 17 x 8535 =

1753 +2121 = 8752 + 1127 = 12986 + 77011 =

What is CX? What is CCLII? What is DLXV?



6716 + 46 = 146
126000 — 2000 = 124000

Write 0.5 as a percentage =
50%

7 3 _4

10 10 10

/7x2x3=42

Find 20% of 600 = 120

0.34 +13.7=14.04

17 x 2654 =45118

1753 + 2121 =3874

What is CX? 110

8234 +46 =179
873000 - 51000 = 822000

Write 0.2 as a percentage =
20%
5 1 3 1

12 6 12 4
8x4x5=160

Find 35% of 600 = 210
17.37 + 26.044 =43.414
17 x 3753 =63801

8752 + 1127 =9879

What is CCLII? 202

10856 + 46 = 236

8982000 — 7700000 =
1282000

Write 0.04 as a percentage =
4%
7 3 _1

9 4 36
12x10x6 =720

Find 33% of 600 = 198
76.85 + 124.075 = 200.925
17 x 8535 = 145095

12986 + 77011 = 89997
What is DLXV? 565



